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#include <iostream>

using namespace std;

void zamiana(int liczba, int p)

{

if(liczba>=p) zamiana(liczba/p, p);
cout<<liczba % p;

}

int main()

{

char znak;
inti,p;

dof

cout << "podaj liczbé" << endl;
cin>>i;

cout << "podaj podstawe" << endl;
cin>>p;

zamiana(i,p);

cout<<endl<<"czy dalej t/n? "<<endl;
cin>>znak;

}

while(znak=="t");

return O;

}
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using namespace std;

void zamiana(int liczba, int p)
{

if(liczba>=p) zamiana(liczba/p, p);
switch (liczba%p)

{

case 10: cout<<"A"; break;
case 11: cout<<"B"; break;
case 12: cout<<"C"; break;
case 13: cout<<"D"; break;
case 14: cout<<"E"; break;
case 15: cout<<"F"; break;
default: cout<<liczba % p;

}

int main()

{

char znak;
inti,p;

do{

cout << "podaj liczbé" << endl;
cin>>i;

cout << "podaj podstawe" << endl;
cin>>p;

zamiana(i,p);

cout<<endl<<"czy dalej t/n? "<<endl;
cin>>znak;

}

while(znak=="t");

return O;

}
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